One step word problem

Pat sold 15 boxes of chocolate chip cookies for $2 each. How much money pat earned?

+* Answer:

Cost of one box
of cookies

Number of boxes
sold

]

Number of
boxes sold

Cost of
one box

Total money
earned.

L x|

)

After selling 15 boxes of cookies for $2 each, Pat earned

Mila bought 2 bottles of glue for $ 2 each. How much money Mila spent?

+* Answer:

Number of X Cost of Total money
Cost of one bottle of [: bottles bought onebottle  —  spent
glue
Number of glue bottles :] :] X [ ] - [
bought

To buy 2 bottles of glue for $2 each, Mila spent

Mark sold magazines for 4 days in a row. He sold 2 magazines every day. How many
magazines he sold at the end of 4" day?

+* Answer:

Number of Number of days —  Total Number
mngzines sold magazines sold - of mngzines
everyday. sold.
Number of magazines sold | I
everyda
- Lo x =]
Number of days C]

magazines sold

At the end of 4 day, Mark sold total

mqgazines.
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